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1. If log3 𝑥 ― log𝑥 27 < 2, then 𝑥 belongs to the interval

a) (1/3 ,27) b)(1/27 ,3) c) (1/9 ,9) d)None of these

2. The set of all solutions of the inequation𝑥2 ―2𝑥 + 5 ≤ 0in 𝑅 is

a)𝑅 ― ( ― ∞, ― 5) b)𝑅 ― (5, ∞) c) ∅ d)𝑅 ― ( ― ∞, ― 4)

3. 2sin2 𝑥 + 2cos2 𝑥is

a) ≤ 2 b) ≥ 2 c) ≤ 1 d) ≥ 1

4. If 𝑎2 + 𝑏2 + 𝑐2 = 1, then 𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎 lies in the interval

a) [ ― 1

2
,1] b) [0,

1

2
] c) [0, 1] d)[1, 2]

5. The equation 4𝑥 + 9 ― 11𝑥 + 1 = 7𝑥 + 4 has

a)No solution

b)One solution

c) Two solutions

d)More than two solutions

6. |𝑥 +
2𝑥| < 3,then𝑥 belongs to

a) ( ―2, ― 1) ∪ (1,2) b)( ―∞, ― 2) ∪ ( ―1, 1) ∪ (2,∞)
c) ( ― 2, 2) d)( ― 3, 3)

7. If  𝑎,𝑏,𝑐 are the sides of a tringle, then 
𝑎𝑏 + 𝑐 ― 𝑎 +

𝑏𝑐 + 𝑎 ― 𝑏 +
𝑐𝑎 + 𝑏 ― 𝑐is

a) ≤ 3 b) ≥ 3 c) ≥ 2 d) ≤ 2

8. The minimum value of the sum of the lengths of diagonals of a cyclic quadrilateral of area 𝑎2 

square units is

a) 2𝑎 b)2 2𝑎 c) 2𝑎 d)None of these

9. |2𝑥 ― 3| < |𝑥 + 5|,then𝑥 belongs to

a) ( ― 3,5) b)(5, 9) c) ( ― 2

3
,8) d)( ―8,

2

3
)
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10. The number of real roots of the equation 1 + 𝑎1𝑥 + 𝑎2𝑥2 +… + 𝑎𝑛𝑥𝑛 = 0, where |𝑥| <
1

3
and |𝑎𝑛|

< 2, is

a)𝑛 if 𝑛 is even b)1 if 𝑛 is odd c) 0 for any 𝑛 ∈ 𝑁 d)None of these

11. Consider the following statements:

1. If 𝑥 be real, then ― 9

2
≤ 3𝑥 ― 4𝑥2 + 1

≤ 1

2

2. If 𝑥 is real, then the greatest value of 
𝑥2 + 14𝑥 + 9𝑥2 + 2𝑥 + 3

is 4

3. If 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0;𝑎 ≠ 0,𝑎,𝑏,𝑐 ∈ 𝑅 has no real roots, then (𝑎 + 𝑏 + 𝑐)𝑐 > 0

Which of these is/ are correct?

a)Only (1) b)Only(2) c) Only (3) d)All of these

12. If 𝑟 is a real number such that |𝑟| < 1 and if 𝑎 = 5(1 ― 𝑟), then

a) 0 < 𝑎 < 5 b) ―5 < 𝑎 < 5 c) 0 < 𝑎 < 10 d)0 ≤ 𝑎 < 10

13. The number of integral roots of the equation 𝑒𝑥―8 +2𝑥 ― 17 = 0, is

a)1 b)2 c) 4 d)8

14. The product of real roots of the equation 𝑥2 +18𝑥 + 30 = 2 𝑥2 + 18𝑥 + 45, is

a)720 b)20 c) 36 d)None of these

15. The set of values of 𝑥 satisfying 2 ≤ |𝑥 ― 3| < 4 is

a) ( ―1, 1] ∪ [5, 7) b) ―4 ≤ 𝑥 ≤ 2

c) ―1 < 𝑥 < 7or𝑥 ≥ 5 d)𝑥 < 7 or 𝑥 ≥ 5

16. Let 𝑥 = [𝑎 + 2𝑏𝑎 + 𝑏 ]and 𝑦 =
𝑎𝑏, where 𝑎 and 𝑏 are positive integers. If 𝑦2 > 2, then

a) 𝑥2 ≤ 2 b)𝑥2 < 2 c) 𝑥2 > 2 d)𝑥2 ≥ 2

17. The least value of 5sin𝑥―1 + 5―sin𝑥―1 is

a)10 b)
5

2
c)

2

5
d)

1

5

18. If 𝑥2 +2𝑥 + 𝑛 > 10 for all real numbers 𝑥, then which of the following conditions is true?

a)𝑛 < 11 b)𝑛 = 10 c) 𝑛 = 11 d)𝑛 > 11

19. The minimum value of 𝑃 = 𝑏𝑐𝑥 + 𝑐𝑎𝑦 + 𝑎𝑏𝓏, when 𝑥𝑦𝓏 = 𝑎𝑏𝑐, is
a) 3𝑎𝑏𝑐 b)6𝑎𝑏𝑐 c) 𝑎𝑏𝑐 d)4𝑎𝑏𝑐

20. If 𝑎𝑖 > 0 for 𝑖 = 1,2,…,𝑛 and𝑎1𝑎2…𝑎𝑛 = 1, then minimum value of (1 + 𝑎1)(1 + 𝑎2)…(1 + 𝑎𝑛)is

a) 2𝑛/2 b)2𝑛 c) 22𝑛 d)1
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